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Chose the correct answer for each of the following questions.
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1- A Particle B is electrically neutral and stand at rest somewhere in the
space, if you know that B is free tfo move, how do you describe the
behavior of B if another charged particle A is brought very close to B?
(Note: both A and B has the same mass)?

T phoy ole gt o S STk Ml e an A et

A. It will attract to A

A B
B. It will repel with A
C. It will stay constant T )
D. It will move up and down

2- A charged particle contains 3x10? protons, and 5x10° electrons, what is
the charge of that particle?

o 3 2 12 580153107 5 By, 33107 o (555 oy peten

+3.2x10°1°¢C
-3.2x10°19¢
+8.0x10°10C
. -8.0x101°¢

o0 ®>

3- Is +7.2x10°% C a possible charge for any particle?
Flo pud A% 28 4724107 C 50 o S5 o

A. No, because it is very small

B. Yes, because it is positive

C. No, because the charge is quantized

D. Yes, because any particle can become charged
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4- What is the charge of a particle that has lost 3.5x10° of its electrons?

$ 4365 5| 50 3.5x10% 13 por & (2 Lo
A-+3.2x101 ¢

B- -3.2x10 ¢
C- +5.6x10 C
D- -5.6x10°* ¢

5- A negatively charge insulating sphere A is connected by a conducting
wire with another neutral conducting sphere B, what is the charge of
each sphere after this contact?

Lo e B dslasey dhoge 52138 Joge I Aol oy Al Tty Bt A3l A 350
T ool an g8 e K7

A- Both of them positive

B- Both of them negative A B

C- "A" is negative and "B" is positive W
D-"A" is negative and "B" is neutral

6- If apositively charged particle is brought close to a neutral conducting
grounded plate shown in the figure, what is the charge of the plate
after disconnecting the grounding and taking the charged particle away
from the plate?

Lot 2 1o ISl G dadl o)y Ao L) Aol donidll e dimgo Aty g e 03 13)

A- Positive. s opmdd] gt olaly 2l Al g sy Gl

B- Negative.

C- Neutral.
D- We can't determine. |
@ .
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7- What is the charge of the atom nucleus?
93,00 8lg 2 P s

A- Positive.

B- Negative.

C- Neutral.

D- Has no charged particles.

8- Depend on the figure and find the distance between the two charges

Q1 Q2 Qy, Q, il Aold) Blal) i ol K2V e a2
2' 8-;2 m Qi= 3.0 4C Qu=-5.0 4C
-053 m o -
C' 067 m Fe:0.30 N
D-0.79 m

9- depend on the figure and find the value of charge Q2?
Q, dimetd) & s Ty Sl Lo a2

A. 12x10°C

B. 2.3x1o-: o Qe q Q34
C. 2.9x10 ¢ ®— rocsn @
D. 3.7X10'6 C B >

10- Depend on the figure and find the magnitude of the net electrostatic

force on Qs? Qs feomtl) Jo a8l SV sl dla sl Sl e a2
A. 19N
B.24N Q= +3.0 uC Q2=-5.0 € Q3=-1.0 €
C. 35N [ YT G Prre— N
D.42N 0.35m 0.15 m
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11- Depend on the figure and find the direction of the net electrostatic
force on charge Q2? Q, &)l o izl S 543 dhag ol 30y Kl Lo 15!

Q1= +3.0 uC
A. 101° relative to +X- axis ’
B. 73° relati —axi
73° re ahv'e to +X axus. 030m :
C. 252° relative to +X-axis i
D. 125° relative to +X-axis @ ernmmmsssssssnnne N
040 m _
Q2=-5.0 uC Q3=-1.0 uC

12- depend on the figure and find the position along X-axis where the net
force on a third charge of +4.2 uC equal zero?

oyl 2 & o 50l Aat o oS0 Sl Xl sl e psll sl (Sl Jeo s
pall (golud +4.2 uC

A. X=-305m

B. X=-23.1m Q= +3.0 4C Q2=-5.0 C

C. X=+3.45m @ e >X
D. X=+12.4 m X=-3 m Xzrom

13- The electric force between two charges separated by distance d is F,
how does the magnitude of this force change if one of the charges is
doubled and the distance between them is doubled also?

A sl 13} gl odp e waee S F (2 d Bslaws Ly Juais sy oLl 5,200 26713

The force will increase by a factor of 2

The force will reduce by a factor of 4
The force will reduce by a factor of 2

o5 w>

The force will increase by a factor of 2
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14- A negatively charged rod is brought close to a neutral electroscope,
this will cause spacing between the fixed and the hinged conductors of
the electroscope, what kind of charges will gather on the conductors?

7 b e SLaST OBo e el v b oo SLE DS e e Bty Bt 3l 08
%U-\ IRV Lg dm\ u\/\.aj,o L}" C,p_) 6‘“ sl

A. Negative charges.

B. Positive charges.

C. No Charge will be on the conductors.

D. Positive charge on the fixed conductor and negative on the hinged one.

15- A charged rod carries an unknown charge is brought close to a positively
charged electroscope, if the distance between the hinged and the fixed
conductor increased, what is the charge of the rod?

5 LSl OMoge el o) Carge Gl,E OIS o Auglas 16 il Byomdes 3l S 3

. —
A. Negative.

B. Positive.
C. Neutral.

D. We can't determine.

16-You bring a negatively charged rubber rod close to a grounded
conductor without touching it. What is the signh of the charge on the
conductor after you remove the charged rod?
do doidlgg g b ¢ puadls Ly s Ol s 2l Joge o Al oty digomtio 3l 2o 3

§ G gmmidl] pludl sl say Lol
A. Negative

B. Positive
C.Neutral
D. We can't determine
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